
 Installation Instructions 
 

 for the 
 

 SKT 350 

 

    
ROAD SYSTEMS, INCROAD SYSTEMS, INCROAD SYSTEMS, INCROAD SYSTEMS, INC. 

P. O. Box 2163 
Big Spring, Texas  79721 

Phone: (432) 263-2435  FAX: (432) 267-4039 
 

Technical Support & Marketing Phone: (330) 346-0721 
Technical Support & Marketing Fax: (330) 346-0722 

 
This Installation Manual can be downloaded from RSI web site 

www.roadsystems.com 





 
 i 

Table of Contents 
 

 Page 
 
LIST OF FIGURES .................................................................................................  ii 
 
LIST OF TABLES ................................................................................................... iii 
 
Installing the SKT 350 .....................................................................................  3 
 

Materials .......................................................................................................  3 
Design Options ..............................................................................................  3 
Site Preparation .............................................................................................  7 
Tools Required ..............................................................................................  7 
Installation Procedures...................................................................................  7 

Installing Posts 3 through 8 .................................................................  7 
Installing Posts 1 and 2 with Groundline Strut..................................  13 
Installing Guardrail ...........................................................................  16 
Installing Cable Anchor Bracket ........................................................ 16 
Installing SKT 350 Impact Head ........................................................ 18 
Installing Cable Assembly ..................................................................18 

SKT 350 Installation Checklist ......................................................................19 
 
Repairing the SKT 350 ..................................................................................  20 
 

Equipment Needed for Repair Operation...................................................... 20 
General Repair Procedures ........................................................................... 20 
Procedures Immediately Following an Accident (Temporary)..................... 21 

 
NOTE: The SKT 350 has different foundation tube options available.  
 

Where reference is made to a 5'-0" long foundation tube with soil plate,  
 

a 4'-6" long foundation tube with soil plate is an acceptable alternate. 
 
See the inside cover for additional information on soil plate options. 
 

PUBLICATION ~ 020105 





































 
 16 

Installing Guardrail 
 
Attach the standard W-beam guardrail sections, 12'-6" (G1203) or 25'-0" (G1205), beginning at post 
9.  Attach the W-beam guardrail end section to span from post 1 to 3 for the 12'-6" rail (S1303), or 
from post 1 to 5 for the 25'-0" rail (S1305).  The rail is to be spliced with 5/8″ x 1-1/4″ H.G.R. bolts 
(B580122) and 5/8″ H.G.R. nuts (N050). 
 
For ease of installation, it is recommended to have the eight 1/2" cable anchor bracket shoulder bolts 
(SB58A) and the cable anchor bracket (S760) attached to the W-beam guardrail end section prior to 
attaching the guardrail to the posts.  See Section on “Installing Cable Anchor Bracket” for details. 
 
The rails are to be attached to posts and blockouts at post locations 3 through 8 with 5/8″ x 18" 
H.G.R. bolts (B581802) and nuts (N050).  There is no blockout on posts 1 and 2.  The rail is attached 
to post 2 only with a 5/8″ x 10″ H.G.R. bolt (B581002).  Note that no bolt is used at post #1.  Be 
sure to place a 5/8″ flat washer (W050) on the backside of posts 2 through 8 under each nut (N050). 
 
It is recommended that the post bolt be placed through the rail at post location #5 where the rail splice 
occurs but it is not necessary. 
 
NOTE: After the blockout is attached, drive a galvanized steel 10d common nail through the block 
and into the post (toe nailed) to prevent rotation if the wood shrinks. 
 
 
Installing Cable Anchor Bracket 
 
For ease of installation, it is recommended to have the eight 1/2" cable anchor bracket shoulder bolts 
(SB58A) and the cable anchor bracket (S760) attached to the W-beam guardrail end section prior to 
attaching the guardrail to the posts.  If this procedure is not followed, Post #2 may interfere with 
attaching the bracket. 
 
The eight 1/2" cable anchor bracket shoulder bolts (SB58A) are attached to the W-beam guardrail 
end section with two 1-1/16" OD  x  9/16" ID structural washers (W050A), one on each side of the 
guardrail, and a 1/2" structural nut (N055A).  The shoulders of the bolts should be on the backside of 
the guardrail, away from traffic, as shown in Figure 9.   
 
For ease of installation, attach the cable anchor bracket shoulder bolts to the rail "finger tight" only. 
Then align the slots on the cable anchor bracket (S760) with the shoulder bolts and tap the cable 
anchor bracket onto the shoulder portion of the bolts using a hammer.  Tighten the bolts with a 
wrench when the bracket is in place.  When installed properly, the welded plate on the cable anchor 
bracket should be toward Post #2, as shown in Figure 10. 
 


























